Part 3



°[1, 2,3]+[4,5, 6]



* [1; 2; 3] + [41 5) 6] // -> '11213415;6'



e console.log(1 <2 <3)
e console.log(3> 2> 1)



e console.log(1 <2 <3) // -> true
e console.log(3> 2> 1) // -> false



*evara=10;

function Foo() {

if (true) {
}Iet a=05;

alert(a);

}
Foo();



evar a =10;

function Foo() {

if (true) {
leta =5;
}

alert(a); //10

}
Foo();



Kak ouNCTUTb MaccuB?

eletarr=11,2,3];



*1.arr=[];
*2.arrlength=0;

3. arr.splice(0, arr.length);
* 4. while(arr.length) {

e arr.pop();
°}



*const testl = 1;
if(true){
const test2 = 2;
}
console.log(test1);
console.log(test2);



*const testl =1;
if(true){
const test2 = 2;
}
console.log(testl); // 1
console.log(test2); // ReferenceError: test2 is not defined



